Mc))

MERTSAN®

rUMP

MTS-371A

KOD/CODE MTS-371A

DEBI (LT./DAK.) 71
FLOW (LT./MIN.)

DEVIR(D./DAK.)
SPEED(R.P.M) 040

GUC (HP)
POWER 7.3

PISTON 3
PISTON

BASING (BAR)
PRESSURE 45

R 20W50

YAG KAPASITESI(LT.) 1.0
OIL CAPACITY .

OLGULER(CM.) 26xX34x34

DIMENSIONS

AGIRLIK (KG.)
WEIGHT ]715

260

293 195
104 | 91

www.mertsanpump.com



Mc))
MERTSAN®

PUMP

MTS-371A

www.mertsanpump.com




Ne URUN KODU / PRODUCTS CODE AGIKLAMA | DESCRIPTION OLGULER / DIMENSIONS ADET/ QTY
1 MTS-371 A/1 iMBUS CIVATA / SCREW @ M12x65 12
2 MTS-371 A2 PUL / RONDELA 212 MM 8
3 MTS-371 A/3 iMBUS CIVATA / SCREW @ M8x30 9
4 MTS-371 A/4 GOzLUK / PLUG 3
5 MTS-371 A/5 ORING / O-RING @ 033.00X3.00 6
6 MTS-371 A/6 ORING / O-RING @ 24.99x3.53 6
7 MTS-371 A/7 SiIBOP KROMU / VALVE CHROMIUM 6
8 MTS-371 A/8 SiBOP PULU / VALVE WASHER 6
9 MTS-371 A/9 SIBOP YAY!I / VALVE SPRING 6
10 MTS-371 A/10 SiBOP KAFESI / VALVE CAGE 6
11 MTS-371 A/11 MEMBRAN KAPAGI / MEMBRANE COVER 3
12 MTS-371 A/12 ORING / O-RING @ 017.00x3.00 6
13 MTS-371 A/13 PiSTON CiVATASI / PISTON HOLDER SCREW @ M10x20 3
14 MTS-371 A/14 MEMBRAN PULU / MEMBRANE WASHER 3
15 MTS-371 A/15 MEMBRAN LASTIiGi / MEMBRANE RUBBER 3
16 MTS-371 A/16 GOMLEK / PISTON SLEEVE 3
17 MTS-371 A/17 SEGMAN / PISTON RING @15 6
18 MTS-371 A/18 PERNO / PERNO @ 15 3
19 MTS-371 A/19 SEGMAN / PISTON RING @ 63 3
20 MTS-371 A/20 PiSTON / PISTON 2 63 3
21 MTS-371 A/21 BIiYEL KOLU / CONNECTION ROD 3
22 MTS-371 A/22 (SU GiRiSi) DIRSEK / HOSETAIL FOR FLY NUT @ 32x32 1
23 MTS-371 A/23 ORING / O-RING @ 027.00x4.00 1
24 MTS-371 A/24 (SU GiRisi) DIRSEK SOMUNU / LOCK NUT G1 %" 1
25 MTS-371 A/25 NIiPEL / NIPPLE 1
26 MTS-371 A/26 ORING / O-RING @ 24.99x3.53 1
27 MTS-371 A/27 RULMAN / BEARING 6207 2
28 MTS-371 A/28 ORING / O-RING @ 070.00x3.00 2
29 MTS-371 A/29 KEGE / SEAL @ 55x10 1
30 MTS-371-A/30 FLANS(KARE KAPAK) / MANIFOLD COVER (BACK SIDE) 1
31 MTS-371 A/31 PUL / RONDELA & 8 MM 4
32 MTS-371 A/32 iMBUS CIVATA / SCREW @ M8x25 4
33 MTS-371 A/33 SARI TAHLIYE MUSLUGU / (BRASS) OUTPUT TAP 1
34 MTS-371 A/34 AYAK / PUMP MOUNTING STAND 2
35 MTS-371 A/35 iMBUS CIVATA / SCREW @ M6x25 2
36 MTS-371 A/36 PUL / RONDELA @6 MM 2
37 MTS-371 A/37 ORING / O-RING @ 016.00x2.50 1
38 MTS-371 A/38 YAGDANLIK GOVDESI / OILCAN 1
39 MTS-371 A/39 ORING / O-RING @ 42.52x2.62 1
40 MTS-371 A/40 YAGDANLIK KAPAGI / OILCAN COVER 1
41 MTS-371 A/41 GOVDE / CRANKCASE 1
42 MTS-371 A/42 REKOR / NIPPLE G " %" 1
43 MTS-371-A/43 EMNIYET VALFi / SAFETY VALVE G 1
44 MTS-371-A/44 KRANK / CRANK 1
45 MTS-371 A/45 BILEZIK / RING @ 5.5x59 2
46 MTS-371 A/46 KECE / SEAL @ 35x47x7 1
47 MTS-371 A/47 ORING / O-RING @ 142.47x3.53 1
48 MTS-371 A/48 ORING / O-RING @ 108.00x3.00 1
49 MTS-371 A/49 ORING / O-RING @ 070.00x3.00 1
50 MTS-371 A/50 MANIFOLD KAPAGI (ON) / MANIFOLD COVER (FRONT SIDE) 1
51 MTS-371 A/51 iMBUS CIVATA / SCREW @ M6x20 18
52 MTS-371 A/52 VANA / BALL VALVE G 1
53 MTS-371 A/53 SAFT MUHAFAZASI / CARDAN PROTECTION 1
54 MTS-371 A/54 PUL / RONDELA @ 6 MM 4
55 MTS-371 A/55 iMBUS CiVATA / SCREW 2 M6x10 4
56 MTS-371 A/56 DEMIR NiPEL / NIPPLE (STAINLESS) G 1

www.mertsanpump.com




